

Republic of the Philippines Metro Manila City of Navotas

BARANGAY SAN RAFAEL VILLAGE

1 Taliba Street email: barangaySRV@gmail.com Tel. No.: 8-365-9625



TO

•

Commission on Audit, Accounting Office, PIO, MIS,

Office of the City Engineer, Committee Members,

Concerned End User

FROM

Barangay San Rafael Village

BIDS AND AWARDS COMMITTEE (BAC)

RE

:

INVITATION FOR BIDDING CONFERENCE

DATE

:

June 05, 2024

Ladies and Gentlemen,

We are respectfully inviting you and/or your authorized representative to attend the procurement proceedings of Barangay San Rafael Village, to wit;

PROCUREMENT OF FEEDING SUPPLIES - ABC: ₱150,000.00

Opening of Bids will be on June 18, 2024 at SRV Hall – 9:00 A.M

Your attendance on the said proceedings shall be highly appreciated.

Thank you very much.

Respectfully yours

Hon. JOWEL D. YAF BAC Chairman

INFORMATION AND COMMUNICATIONS
TECHNOLOGY OFFICE

BY: Daugaby
DATE: VITARY 1.30m

BARANGAY SAN RAFAEL VILLAGE

PURCHASE REQUEST

Barangaý: SRV P.R. No. : 24-06-01

City Municipality: **Navotas City** Date: 06.03.2024

REQUISITI	ON
-----------	----

REQUISITION						
Item		Unit of	Mana Danadakian	Estimated Unit	Estimated	
Number	Qty.	Measurement	Item Description	Cost	Amount	
1	500	KG	RICE	60.00	30,000.00	
2	150	KG	PORK	300.00	45,000.00	
3	100	KG	CHICKEN	220.00	22,000.00	
4	20	KG	CARROTS	60.00	1,200.00	
5	25	KG	CABBAGE	70.00	1,750.00	
6	20	KG	POTATO	50.00	1,000.00	
7	10	KG	SAGING SABA	50.00	500.00	
8	15	KG	STRING BEANS	80.00	1,200.00	
9	2	KG	BELL PEPPER	100.00	200.00	
10	20	KG	ONIONS	300.00	6,000.00	
11	10	KG	GARLIC	120.00	1,200.00	
12	2	KG	GINGER	150.00	300.00	
13	24	KG	SAYOTE	50.00	1,200.00	
14	15	KG	SQUASH	50.00	750.00	
15	1	KG	BULAKLAK SAGING	50.00	50.00	
16	10	KG	TOKWA	45.00	450.00	
17	47	KG	FISH	300.00	14,100.00	
18	10	KG	SHRIMP	400.00	4,000.00	
19	1	BAG	IODIZED SALT	500.00	500.00	
20	2	CAN	COOKING OIL 16L	1,500.00	3,000.00	
21	2	REFILL	LPG GAS REFILL 11KG.	1,000.00	2,000.00	
22	300	PC	FRESH FRUITS	10.00	3,000.00	
23	50	BUNDLE	CAMOTE TOPS	10.00	500.00	
24	12	KG	MONGO LABO	110.00	1,320.00	
25	12	PC	сосо мігк	60.00	720.00	
26	24	BUNDLE	MALUNGGAY LEAVES	10.00	240.00	
27	15	PC	UPO	40.00	600.00	
28	24	CAN	MILK IN CAN	30.00	720.00	
29	24	CAN	PORK & BEANS	40.00	960.00	
30	24	KG	MEATBALLS	100.00	2,400.00	
31	1	GAL	VINEGAR	150.00	150.00	
32	2	GAL	SOY SAUCE	200.00	400.00	
33	5	KG	SAMPALOK	30.00	150.00	
34	50	BUNDLE	KANGKONG	10.00	500.00	
35 .	10	KG	TOMATOES	50.00	500.00	
36	24	KG	MAIS	50.00	1,200.00	
37 ,	4	KG	CORNSTARCH	60.00	240.00	
Total Estima	ted Amou	nt		P	150,000.00	

Purpose:

FOR 2024 SUPPLEMENTARY FEEDING PROGRAM OF BRGY. SRV For use by the Barangay

Requested by:

CHRISTIAN RAY V. SALVACION

Signature over Printed Name **Barangay Secretary**

06.03.2024

Date

Signature over Printed Name

Yunong Barangay

06.03.2024

Date

Central Portal for Philippine Government Procurement Oppurtunities

Invitation to Bid (ITB)

Reference Number

Bid Notice Abstract

10917248

Procuring Entity

BARANGAY SAN RAFAEL VILLAGE, NAVOTAS

Title

Feeding Program 2024

Area of Delivery

Solicitation Number:	2024-001	Status	Active
Trade Agreement:	Implementing Rules and Regulations		
Procurement Mode:	Public Bidding	Associated Components	1
Classification:	Goods	Ì	
Category:	Grocery Items	Bid Supplements	0
Approved Budget for the Contract:	PHP 150,000.00		
Delivery Period:	15 Day/s	Document Request List	0
Client Agency:			
		Date Published	04/06/2024
Contact Person:	DHAY ANN A. SY BARANGAY TREASURER		
	01 taliba st. San rafael Village Navotas City Navotas City Metro Manila Philippines 1485 63-8365-9625 63-956-8020825 barangaysrv@gmail.com	Last Updated / Time	04/06/2024 00:00 AM
		Closing Date / Time	17/06/2024 09:00 AM

Description

The Barangay Government of San Rafael Village, through the approved Annual Budget 2024 duly approved by the Sangguniang Panlungsod intends to apply the sum of One Hundred Fifty Thousand Pesos (P 150,000.00) being the Approved Budget for the Contract (ABC) to payment for the Procurement of Feeding Supplies & Materials of Barangay San Rafael Village, Navotas City. Bids in excess of the ABC shall be automatically rejected at bid opening.

The Barangay Government of San Rafael Village - Bids and Awards Committee now invites bids for the Procurement of Feeding Supplies & Materials of Barangay San Rafel Village, Navotas City.

Supplies and Materials Needed:

Rice 500 kg. Pork 150 kg. Chicken 100 kg. Carrots 20 kg. Cabbage 25 kg. Potato 20 kg. Saging Saba 10 kg. String Beans 15 kg. Bell Pepper 2 kg. Onions 20 kg. Garlic 10 kg. Ginger 2 kg. Sayote 24 kg. Squash 15 kg. Bulaklak Saging 1 kg. Tokwa 10 kg. Fish 47 kg. Shrimp 10 kg. Iodized Salt 1 bag

Cooking Oil 16L 2 can LPG Refill 11kg. 2 refill Fresh Fruits 300 pc. Camote Tops 50 bndl Mongo Labo 12 kg Coco, Milk 12 pc Malunggay Leaves 24 bndl Upo 15 pc Milk in Can 24 can Pork & Beans 24 can Meatballs 24 kg Vinegar 1 gal Soy Sauce 2 gal Sampalok 5 kg Kangkong 50 bndi Tomatoes 10 kg Mais 24 kg Cornstarch 4 kg

Bidding will be conducted through open competitive bidding procedures using a non-discretionary "pass/ fail" criterion as specified in the Implementing Rules and Regulations (IRR) of Republic Act (RA) 9184, otherwise known as the "Government Procurement Reform Act".

Bidding is open to all interested bidders, whether local or foreign, subject to the conditions for eligibility provided in the IRR of RA 9184.

Interested Bidders may obtain further information from Barangay Government of San Rafael Village - Bids and Awards Committee and inspect the Bidding Documents at the address given below during office hours from 8:00 a.m to 5:00 p.m.

All Interested bidders should submit (a) Letter of Intent (b) PhilGEPS Reg. Certificate (c) DTI/ SEC Reg. Certificate (d) Business Permit (e) Tax Clearance and other mandatory requirements as provided under Rep. Act 9184.

All bids must be submitted on or before June 17, 2024 at 8:00 a.m.

All bids must be accompanied by a bid security in any acceptable forms stated in the BDS.

Bid Opening shall be on June 18, 2024 - 9:00 a.m at the Barangay Hall of San Rafael Village, Navotas City. Bids will be opened in the presence of Bidder's Representative who chooses to attend. Late bids shall not be accepted.

The Barangay Government of San Rafael Village - Bids and Awards Committee reserves the right to accept or reject any bid, to annul the bidding process, and to reject all bids at anytime prior to award, without thereby incurring any liability to the affected bidder or bidders.

For further information, please refer to: Barangay San Rafael Village BIDS AND AWARDS COMMITTEE

Line Items

Item No.	Product/Service Name	Description	Quantity	UOM	Budget (PHP)
1	Feeding Program	Grocery Items	1	Lot	150,000.00

Created by DHAY ANN A. SY

Date Created 03/06/2024

The PhilGEPS team is not responsible for any typographical errors or misinformation presented in the system. PhilGEPS only displays information provided for by its clients, and any queries regarding the postings should be directed to the contact person/s of the concerned party.

© 2004-2024 DBM Procurement Service. All rights reserved.

Help | Contact Us | Sitemap